1098 2 R+ FI% R Y | EFI TV HREFRFRAFT R

F3d - -3: 1008 & & R RBRKEFS L BFREAY ¢ 4
- \szji

(- ) HTFEE KT FA R F2 F P #8489 petir
¥E 2 IR EA o

(': ) 109%‘?'&}2* ]flﬂ Tl%ﬂ%?” #Bl’ﬁr'g#’hﬁ{;}g_ =L

F
= NP

(=) &L FHBARETRGFY > RRFRIFEfRER 7 - RHET2
TR ERTE R AR L EE o

(Z) BAFDHEITEY sz a%ﬁggiﬁ%,ﬁwgnﬁ¢f§
:’ ’ 17}%@—?—'% ‘#—Hb

(=) BB kPl gRE (g

B AR

-
7 N
o

%

E A E A N EREE R = LR

-

ERRE < =10 N
(=) H#E e HTR R EBRT
(=) Ay%H =

¥ B JIFI’?I’S v
CEE PR R SRR ] B
v~ PR 1092107 24 (R EH )

(=) Ky%H =

R TN

()57 % ﬂi”*?&@%ﬁﬁﬁ%g’% - 180 & -

(z )i e ERBKEF 8| PP S 2Lmp ki 18 prongd ¥ >
* Bf %:Q r 71\«}\ TR Y o

AN1TE P BP R
)

FAY

7 F' /}EI »~T P‘"
(fent @ https://drp. tyc. edu. tw/TYDRP/ Index. aspx » B 3 H
AR ) e %ﬁﬁl’ N

PEY 109 & 107 19 p A 0 TRE KT

’%ﬁﬁkﬁ‘?’zzaiﬁ7”§f&r
oo RPEPRET0 L &FT0 22 ®F 40 10 537180 &
(:>%ﬁ9§1%}iwﬁ—



=N R

(=) ARFEYRBYFEHLFAY R > AN AIEE R > Pid 27 F
JREF RS EE Y FE Y 25 51009% o

(Z) WiEFEY *2nv it APRFAYRIA > Wi TIPMHLEY g o

N i«:ﬂP'c Fz2 P im (deftid s )
(-)RHAFFEFY R PGP L Fwil o Hef ¥ ispgl s FL

C)BRE AAPRERG O R AEY RS RE A 18 a4 o el

(=) 2BZ2EAFY FEF - BEFPEFY FES P -
> g ﬁ d ’H f‘_]_-f-z‘]? ;J—«‘Jll }3%— z 1‘\ , 1§ Efk)Jll’iFlz 5_F’ Z;QJ‘,E )/é’
FP

FEUEE WY bR R GRS AR T E S

(Z)FPY ¢S RERFRAIKAEAT FEEAR P FF I+ o AR
iéw’%%ﬁp?%w#?#%ﬁfﬁﬂﬁBﬁ*ﬁ@—°
(=) KL’E’ AR AR LA A A AR R RRIT B SR Y R
W,F%P?%ié £ N P PEAE R
L \ﬁﬁéi

Zfp T2 FEYP ENTERRESE Y ERE T o3 E T8

hﬁﬁ*‘*#ﬁgﬁffﬁﬂ?**ﬁ?hﬁéﬂ@?fﬁﬁﬁ B pATE .

Lo AP HMPRD RAPAGE S e} AR TR AT AH LB o



xﬁfi_
109 5 & A FFID BA ¢ | B H 2 H Y ot foay 7 rcdn e
33 L--3:1098 &8 WJ %\?i—gﬂ;8,J‘ syt
ﬁ.i&

F‘

AL ERE =
£~ %f A EQEAL T B R
2 % K gk = (R)
B3 2R X EXER
WRA T HR ?bIéb = (#)
EE N - P ,xai;f%g;—“z EF
T R B E R
BE T ER X e R
FTEF] e A E(R)
BY JOE AL R | e TR K BE
19k EHR g;;é%lifi(gc)

Bh Ik BB i R R

FA/ R/
7f—|-:}[i L ’I"a ﬁ %/U/EJ%E“P %

—— /

KB R

B/ EE P/ EmE
53 R SR IR i

w3
F TR FIE R RE ()

|
M%%ﬁ%+iﬁi%ﬁ

=

gg 4 E&EE AR T R
wauwm

’z%?«w |~ F iz
3= ()
f‘ﬂ‘i‘jﬁ
B EEF(HE)

{

e ¢

<

g

She
_p
}El

|~ \rg
™~

R

e
|
IH

“m_“.

SEIE = AT
4 04 b ok

LA

73*-._‘.“’”?

I‘

— (R

)
N

4 e %
i
i

W W R

B (GBI
=\
&= =
)

N
= =

E‘WE’E‘E’#E%E“

e

SEIE = AT
£ 4 04 o ok

ST i L B S N \"ﬂ

ook G 1=

u

a)
\""SL\

N
—




